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A study on the Career Barriers of College Students

(Centering on students studying Dental Technology in D-College)

Hwa-Sik Lee, Bong-jin Bae, Myung-Ho Park
Dept. of Dental Technology, Daegu Health College

[Abstract]

Purpose: The purpose of this study was to analyze the career barriers of students studying dental technology in D-
College.

Methods: This study targeted 490 college students studying Dental Technology in D-College. The survey about
career barriers on this study consisted of 45 questions and was scored with 5-points per question. The corrected
data was analyzed by SAS V8 for Windows.

Results: The difference analysis of career barriers shows that differences exist depending on gender(p<.01) and
serving military service(p<.05). Especially, female students(2.69) and male students(2.65) who didn't serve the
military are more susceptible to career barriers. In the sub factors of career barriers, differences exist depending on
and in order of gender, serving military service, experience studying one more year to enter the college, day and
night, the affiliation of highschool graduated from, and hometown. The correlation between the sub factors of
career barriers and perception of career barriers manifested ‘Lack of self assurance’(0.84), ‘Sense of physical
inferiority’(0.76), ‘Relationship with other important people’(0.73) and ‘Lack of information on occupation’ in
order.

Conclusion: In the factors affecting non-decision on the career, ‘Lack of self assurance’(=0.2465) is the highest in
terms of influence, followed by ‘Difficulty in interpersonal relations’(=0.1801) and 'Lack of information on
occupation’ (=0.1391).
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*p¢0.05, **p<0.01
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